3410 B 148 CKER)

R RENFEHIS (A15) 2B B #H

Frx ENSEHABE: 2496 b+
(gL HEREFST)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 18,519
it 9,750 1,550 8,200 10 1,296 648 1,296 540
LS 15 0 15 15 1,620
alll 8,744 693 8,051 11 1,404 1,080 1,512 540
130340 [;£ICALA ¥ 16,320
it 15,400 1,780 13,620 10 1.512 324 1,620 648
130400 15 % 910
dtiEE 420 10 410 10 Z. 808 2,808 2,484
LS 300 0 300 10 1,566
BE 160 0 160 10 1,004
130600 |[LA A % 2,270
Ll 170 0 170 5 2,592 972
= 2,100 50 2,050 5 3. 348 3,888 648
131100 [A 3 a3 45,590
£ 45,590 29,225 16,365 15 1,296 432 2,041 540
131700 [Fr Y 3 31,690
HE 14,900 3,800 11,100 10 972 486 972 486
IE54 16,790 4315 12,475 10 1,188 432 1,188 432
131800 |[[(F5 N AE % 2,047
Iz B 1,476 4 1,472 3.6 3. 888 3,888 1,890
£E 320 320 of o2 131 83
=i 90 0 90| 45 2,700
131910 [FH=F % 3,171
N 49 0 49 0.5 702 302
£E 23 3 20 05 302 302 270
i L 265 0 265 1 1,512 432
E 1,719 20 1,699 5 Z, 700 3,240 540
iR 950 0 950 10 2,862 2,700
= 10 0 10 05 324
131950 | B4 ¥ 3 8,470
dtiEE 3,335 325 3,010 5 1, 620 1,620 756
EHY 1,350 354 996 3 1,404 972 1,404 540
fE 15 0 15 3 648
133400 [L B R a3 2,400
£E 2,400 1,390 1,010 10 1, 620 1, 404 1,944 1,296
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3410 B 148 CKER)

R RENFEHIS (A15) 2B B #H

~

Frx ENSEHABE: 2496 b+
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
134100 | A/ s 18,369
dtiEE 1,530 740 790 8 810 788
Lz 510 250 260 5 1,091
E351 295 240 55 5 950 810 918 810
HE 1,710 450 1,260 5 1,382 1,080 1,566 626
EE 696 186 510 8 2,246 1,987 2,246 1,987
32 283 0 283 5 1,188 540
F 1,445 150 1,295 5 1,080 702 1,728 540
iR 9,185 2,155 7,030 5 1, 458 156 1,728 756
134200 |E R 3 4,270
dtiEE 4,270 500 3,770 10 1,512 1,566 918
134300 |#nF 3 10,360
NI 92 4 88 4 1,080 1,512 432
EE 545 530 15 5 918 270 864 810
=B 365 340 25 5 648 356 1,188 648
mE 4,190 140 4,050 5 918 864 1,188 216
IR 1,298 24 1,274 04 119 97 54
=il 2,160 516 1644 03 97 76 97 76
134400 |F<+ % 13,907
dtiEE 760 0 760 4 454
FE 1,728 720 1,008 4 1,080 1,728 756
I B 8,640 1524 7,116 [] Z 160 1,296 1,944 1,080
£E 276 0 276 4 1,944 1,188
iR 400 0 400 4 1,512 346
REAR 2,004 0 2,004 4 3,240 2,160
134500 |E—< > 3 14,913
£E 2,590 1,287 1,303] 0.15 59 3 49 32
iR 1,202 0 1,202 0.15 49 22
= 450 0 450 0.15 65 49
=% 2,360 780 1,580 0.13 59 59
135100 [LNAVIF A % 192
FIEAIT 30 4 26 2 2. 484 2,160 1,188
32 102 0 102 2 2,700 1,188
=il 10 0 10 2 3,024
BR 50 0 50 2 2,052 1,944
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3410 B 148 CKER)

R RENFEHIS (A15) 2B B #H

Frx ENSEHABE: 2496 b+
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)

135200 |3 = s 75

dtiEE 15 3 12 1 2,700 2,484 2,700 2,484

Faxl 60 12 48 /] Z, 160 1,620 2,376 1,296
136100 [MAL & 3 22,840

FE 175 0 175 5 1,296

mE 5,685 615 5,070 5 Z 160 1,944 2,430 864

= % 2,770 415 2,355 5 1,998 1,026 1,674 756
136200 [ E#5Z 3 5,500

itiEE 5,500 660 4,840 10 Z 160 1,782 2,376 1,620
136210 [A—2 1> a3 12,400

dtiEE 12,400 1,850 10,550 10 Z, 484 1,037 2,592 702
136300 B ¥ 3 1,620

IR 1,520 100 1,420 10 Z, 700 3,780 1,058

BE 100 0 100 10 1,728
136600 |f=F1a= % 8,360

dtiEE 200 0 200 10 2,916 2,160

EE 8,160 8,160 0 10 2. 268 1,080
138100 [ LU =1F “ 2,562

£E 245 15 230 0.1 140 97 97 71

mE 1,735 90 1645 0.2 238 178 281 108
138500 |LHLE ¥ 2,864

a4 2,835 554 2281 0.2 67 53 67 57
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PR REFETS (KI5) BEB#HK
SF34E10 B 148 CKER)

= ESEHAE: 447 bV
(ERISHERESD)
fnfh fnfh EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)

240400 [ R4 BN A MDA ¥ 32,197

FFrL 11,841 0 11,841 10 4320 2,376

iR 13,400 2,200 11,200 10 1,296 156 2,160 324

HEAR 6,296 0 6,296 10 972 540
242830 [ S\CYAC ¥ 1,860

= 860 860 0 20 4,320 3,780

K& 1,000 250 750 10 6. 480 3. 024 5,940 3,024
243160 | FTEAL a3 2,100

S 2,100 320 1,760 10 5. 400 4, 644 5,400 3,564
243610 |[EAME a3 611

=g 611 611 0 10 3. 564 1,080
243710 | EREME 3 990

=B 990 990 of 15 2. 268 896
245230 |[BIESES 3 2,274

R 2,274 1,688 586 0.35 594 292 594 292
245240 |EA—R5EDS a3 215

fit] L 10 10 of 0.4 648 432
245820 [FE L 5 U< 2 3,867

£E 3,867 675 3,192 4 Z, 1700 1,836 2,916 702
247100 |[7—JLR A @ 626

Gidcd 306 187 119 8.5 12, 960 5. 184 9,720 5,400

=50 320 0 320 8 4,104 2,916




SFI34E10 A 1410 OREER)

F A R RS T S (AE5) BHE H

R EIbng e = 9.7 %
(S I E B B )
A . EN7EH (kg o H05E RIS
2 4 — — filik HLAL - — — — —
AH H05E RIS FEM e ED | HE ()| Z2 i) PEH EAE(ED) | FED | ZE)
101 | RERT=\ 393 113 280 Kg | 1,188 108| e 2,700 216
102 |[ZHEIZW 2,136 2,136 Kg B+ 2 2,927 417
111 [ ED 835 102 733 Kg |&fE 432 162|m - Koy 1,469 184
113 [ RROHH 59 33 26 Keg |&5# 1,152 936 | Lo 2,160 1,008
114 |5 -H 163 163 Kg HEE[E] 2,592 1,728
115 [z 9 9 Kg frJE 3,240 1,620
117 [13n 195 109 86 Kg |&fE 756 270] fe i 3,622 540
121 |boiEE 131 60 71 Kg | 1,620 216] e 1,728 648
134 |[7=Z 446 179 267 Kg [E=k 3,300 324 = hk 3,240 1,080
137 |[mHES< 155 99 56 Kg [FHL 3,024 1,188| Bl 3,564 1,296
140 |DIT 13 4 9 Kg S| 756 B|&ES 43,200 891
147 [#Ex 78 28 50 Keg [X% 5,184 4,860 | E IR - FoJiE 8,640 3,000
158 | A LD 752 44 708 Kg [EE 972 162 )i 1,296 648
201 |Vl 300 300 Kg Lo 300
203 [T 150 150 Kg Gl 378 108
205 [ALHL 34 34 Kg Lo 972 440
206 |1 290 290 Kg T3 1,322 240
207 |SAE 262 262 Kg Aty 2,430 675
208 [0k 405 405 Kg ] 1,296 313
209 [T D000 5 5 Kg AN 864
212 |FHESD 298 298 Kg Bl F | 2,182 1,250
222 [OBZ 216 216 Kg = 324 252
251 |[KAESA 474 120 354 Keg |&5# 3,370 B 5,994 2,970
252 |WAEESA 89 89] Kg ] 2,808
264 |EDIEESAH 469 469 Kg e 1,814 691
305 |FERnoB 7 7 Kg frJE 2,916 2,700
306 [WEXD 12 12 Kg L 864 540
319 [=b5 432 32 400 Keg [|&)I 351 A8 o] + L JoE 2,160 864
332 | EA BPE 274 274 Kg E|RES 1,566 1,188
31 [A£EH 45 5 40 Kg [#[E 3,564 HEE[E] 4,320 4,104
354 [1xFESD 20 20 Kg [T 1,404
355 [HVY 155 5 150 Kg |fE 864 REA - 20 1,188 500
356 LU 145 145 Kg FSEL 1,080 864
357 |RHE 46 46 Kg HEE[E] 3,456 846
358 [KH 20 10 10 Kg [ZHm 1,080 ] 1,080
362 [ 79 79 Kg = 4,320 1,134
401 | 59 24 35 Kg [iZR 1,296 1,080[%=Zn 1,512 756
402 |H7pE 10 10 Kg R 4,428 3,348




PO T FR YL ISR T (AN Y) B H
SFI34E10 A 140 OKHEH)

R EIbng e = 0.4 %
(S I E B B )

4, . EN7EH (kg L wh5E FEXFELS |
2 4 — — filik HLAL - — — — —

AH wY5E FEXFELS | PEH AR ()| ZefiE(M) BEH EAE(D) | () | ZefE(M)
512 | M 60 60 Kg E[RES 1,350 432
523 | BT 2O 261 261 Kg FE T 2,916 1,200
554 |&iE WA B 10 10 Kg B[RES 590
558 |FRfa 58 58 Kg B|&ES 950
560 [HER7=Z 19 19 Kg FE T 2,450 1,350
566 [T 20 20 Kg B|&ES 3,400 880




SFI34E10 A 1410 OREER)

F A R RS T S (AE5) BHE H

AT TR R 1.6 kv
(S I E B B )

0 Fe sk H05E EFS
:Stﬁ* 5 izl iﬁl (kg) _ p— \ _ 7 _ j TS| _

AH H05E RIS FEM e ED | HE ()| Z2 i) PEH EAE(ED) | FED | ZE)
701 |[BVDHA 9,561 9,353 208 Kg | 1,566 680] e 1,080 648
705 [7=3<D 62 6 56 I INE 2,268 IiE] 2,268
709 [WbLRF 39 39 Kg L 864 756
710 [5BHHIF 312 121 191 Kg [|ERE 162 Koy 1,080 648
751 |E i 425 368 57 Kg |&fE 678 559 | AR 1,188 780
755 |BA®HL 378 378 Kg gy 1,265 312
756  [BEET 5 5 Kg KRy 1,358
761 [BodAEE 54 6 48 Kg | 1,273 1,207 [ - Fo ek L 1,548 750
768 |&E7-Z 5 5 Kg FE T 2,360
801 [HEfALXiT 173 173 Kg E|RES 2,916 594
802 [HaXiF 10 10 Kg JeviEE 918
805 |HE=1E 347 347 Kg B[Sz 756 356
810 |BA KT 194 194 Kg B|&ES 2,376 54




